Svenska Bridgeférbundet

Brons 1, Festivalen, hcp 2011-07-29

Partavling, 44 bord, 87 par. Antal brickor: 24. Medel: 1008.1. Frirond (*) ger egen procent.

Plac Par Poang % Namn

1 401 13114 65.05

2 180 1302.1 64.59
3 110 12505 62.03
4 372 12456 61.79
5 208 12359 61.31

6 470 1219.2 60.48

7 108 1213.2 60.18
8 201 1203.7 59.71

9 277 1183.9 58.72
10 111 11556 57.32
11 380 11449 56.79
12 301 11438 56.74
13 410 1142.8 56.69
14 377 11359 56.34
15 278 1131.2 56.11
16 479 11251 55.81
17 403 11209 55.60
18 406 11119 55.15
19 475 11045 54.79
20 109 11015 54.64
21 474 1099.5 54.54
22 305 1099.2 5452
23 375 1096.8 54.40
24 308 1095.3 54.33
25 374 1087.0 53.92
26 476 10855 53.85
27 206 1084.9 53.82
28 307 1081.3 53.64
29 405 1077.0 53.42
30 378 10735 53.25
31 379 10724 53.19
32 107 1064.6 52.81
33 203 1054.6 52.31
34 473 10489 52.03
35 106 1048.8 52.02
36 404 1048.6 52.02
37 179 1036.2 51.40
38 409 1034.2 51.30
39 376 1030.2 51.10
40 270 1025.4 50.86
41 173 1017.3 50.46
42 478 10105 50.12
43 471 1007.4  49.97
44 176 1004.0 49.80
45 171 1003.4 49.77
46 373 10025 49.73
47 371 992.8 49.25
48 102 988.6 49.04
49 202 986.7 48.95
50 209 98238 48.75
51 276 978.0 48.51
52 407 9773 48.48
53 472 967.7 48.00
54 104 965.2 47.88
55 178 961.4 47.69
56 271 959.6 47.60
57 304 957.6 47.50
58 207 955.7 47.41
59 302 955.6 47.40
60 280 955.3 47.39
61 311 951.6 47.20
62 274 946.2 46.94
63 275 940.0 46.63
64 477 938.1 46.53
65 370 934.6 46.36
66 303 929.3 46.10
67 204 918.4 45.56
68 272 914.0 45.34
69 211 9114 45.21
70 172 9075 45.01
71 279 8929 44.29
72 175 885.5 43.93
73 273 8829 43.80
74 310 876.6 43.48
75 105 871.7 43.24
76 306 871.0 43.20
77 170 869.7 43.14
78 408  856.2 42.47
79 309 808.3 40.09
80 101 8075 40.05
81 205 786.8 39.03
82 480 780.1 38.70
83 402 7765 38.52
84 210 748.1 37.11
85 103 7419 36.80

Torsten Bloom - Gunnar Andersson
Mona Iwarson - Paul lwarson

Ove Jansson - Renate Bergfeldt

Lars Blomqvist - Lena Henrixon

Lennart Andersson - Kerstin de la Tajada
Margareta Gustafson - Géran Gustafson
Lennart Olofsson - Stig Johansson
Anita Olsson - Hans Olsson

Conny Lévgren - Claes Andreasson
Lennart Emanuelsson - Marie Binglov
Eva Jansdotter - Bertil Andersson
Mattias Johansson - Manne Henriksson
Jan-Ake Werner - Kerstin Werner
Annika Hugosson - Gert-Inge Hugosson
Jan Sonnerstedt - Gudrun Sonnerstedt
Elisabeth Backman - Jan-Olov Lundgvist
Monika Andersson - Johannes Borregaard
Bengt Anderson - Bo Andersson

Peter Lindqvist - Katarina Fredriksson
Marie Granlund - Elisabeth Wittvdngen
Ida Gronkvist - Mikael Gronkvist

Brita Daun - Gittan Erikson

Heikki Viitala - Mikael Andersson

Eira Ostlund - Knut Ewerhard

Irene Bostrom - Soren Sten

Ove Olofsson - Monica Calander

Roger Ahlbom - Zennica Hammar
Bengt Karlsson - Leif Erlandsson

Jarl Jénsson - Ann Johansson

Britt Edlund - Eva Lindeberg

Birger Ekstrém - Sture Swedberg
Hakan Myrhagen - Ritva Myrhagen
Klas Diamant - Goran F Persson
Carina Westlin - Sofie Westlin

Lennart Reiz - Eva Reiz

Tuve Gustavsson - Torbjorn Gustavsson
Lise-Lotte Byberg - Mary Fensby
Gunilla Tingstrém - Elisabeth Bellman
Jan-Olof Siby - Markku Harald

Ulla-Britt Olsson - Hernando Slottsdahl
Bertil Johansson - Bertil Jonsson

Eva Johansson - Gertrud Anderson
Anders Norberg - Christina Ask

Anders Fensby - Géthe Binning
Lars-Ingvar Norberg - Lars-Ove Andersson
Ann-Christin Pehrson - Ulf Pehrson
Marta Lindberg - Bosse Lindberg

Sdren Westling - Lisa Ornberg

Tom Norman - Lars-Olof Hessle

UIf Ahl - Anders Blom

Lennart Ekholm - Christer Astrém
Niclas Ornerdal - Mats Hamp

Klaus Hawby - Jan Olofsson

Lennart Lundqvist - Gert Mortensen
Yvonne Flodgvist - Per Stderberg

Lars Fritzing - Inga-May Fritzing

Boan Bjorck - Gun Ekstrom

Lotta Rodin-Lundberg - Ulrika Forsberg
Anki Johansson - Peter Johansson

Olle Wingardh - Helge Jonsson

Ragnar Andersson - Rolf Carlsson
Carina Larsson - Sture Persson
Lennart Karlsson - Tord Jonsson

Leif Hogberg - Berit Hogberg

Alf K&gstrom - Isabelle Kagstrom

Lena Bjon-Aaltonen - Inga Nyberg

Inger Hultstrand - Ann-Christin Ahlstrom
Jan Rejsby - Borje Wester

Solveig Washer - Marianne Primér
Maria Lyck - Anna Rydell

Elisabeth Olsson - Géran Olsson

Thore Sdderlund - Benny Appelqvist
Klas Frieberg - Tage Eriksson

Renate Engvall - Einar Jonsson

Birgitta Radberg - Annika Sundelin

Kurt Fredriksson - Thorbjérn Fredriksson
Torbjorn Askernés - Andreas Skoglund
Olle Wistbacka - Joel Loikkanen

Peter Akesson - Peter Moricz

Jan Klaavuniemi - Maria Paulsson

Curt Engvall - Veine Karlsson

Bo Larsson - Anna-Stina Wennberg
Karola Hogberg - Lars Lilja

Margit Rogberg - Ingvar Nilsson
Margareta Bratt - Kerstin Vikman

MID

196 1680
8655 12865
9090 83187
9245 92281
4045 4125
1188 1189
46333 46334
33707 26832
24860 8837
1318 83990
88035 87383
40474 40473
26828 26827
87574 88521
4110 18398
13169 84131
45496 45505
26106 26105
34611 33743
23451 88046
31083 85230
1691 10273
93156 92752
83525 26144
35076 36626
30296 26154
11528 44278
89265 41756
32936 32933
10455 11802
87374 25027
411 24760
842 28233
12540 86222
79750 84159
44820 1255
88050 92162
90374 90291
26821 31327
32894 8996
79723 43587
33465 29608
22774 37763
92163 28088
85935 7829
91883 91884
8908 5214
27606 27605
13403 10170
28744 93102
50946 38022
13085 40799
39239 36602
7513 13171
14805 18380
7367 10363
12777 82241
14792 89334
29219 35156
23806 29573
26725 42867
80635 37152
2871 2867
22679 22680
33288 41909
2602 33178
31088 31274
2578 7827
16766 14791
39249 39244
42078 39097
5233 5231
26345 17702
83268 2732
17276 29538
45512 45513
13922 23392
41835 47002
93876 25801
25839 30866
6686 12940
35666 35665
17222 4118
9791 90684
40123 40132

Klubb

Boras BA

Lidingé BK

Akersberga BS - Kép En Sol
Brécke BK - Fréso BK
Axbergs BK

Filbyter Bridge

Boras BA

Boras BA

BK S:t Erik

Filbyter Bridge

Orebridgen - Axbergs BK
BK Fyris

Boras BA

Stenungsunds BK

Kumla BS

Borlange BK

Orebridgen

Frélunda BS

Gislaveds BK - Varnamo BK
Orebridgen

Orebridgen - BK Fyris
Boras BA

Hallstahammars BK
Orebridgen - Lindesbergs BS
Orebridgen
Norrkdpingsbridgen

Bergsjo BK - BK Hudik
Orebridgen

Amals BS

Akersberga BS

Orebridgen

BK Sekvens, S-torp
Solvesborgs BK - Kumla BS
Bollnés BK

Solvesborgs BK

BK S:t Erik

Orebridgen

BK S:t Erik

Boras BA

BK S:t Erik - ABB BK

Boras BA

BK Everfresh - Lerums BK
BK S:t Erik - Lilla Sallskapet
Orebridgen

Pited BS - Orebridgen
Sélvesborgs BK

Visby BS

BK Everfresh

Véstra Bjare BK - Nasby BS
Orebridgen

ABB BK

Oskarshamns BK - Falu BK
BK Opalen

Stenungsunds BK - Tjérns BK
BK S:t Erik - Alvik BC
Borlange BK

Orebridgen

Havdhems BK

Orebridgen

Boras BA

BK Fenix - Ystads BS
Orebridgen
Hallstahammars BK

Skara BS

Sandvikens BK
Vasbybridgen - Akersberga BS
Orebridgen

Orebridgen

BK S:t Erik

BK Opalen - Aby BK
AsalFrillesas BK - Orebridgen
Havdhems BK

Orebridgen

BK S:t Erik - BK Falkenberg
Gavle BK - Karlstads BK
Orebridgen

Karlstads BK

Sandvikens BK - Bollnas BK
Lilla Sallskapet - Pri-Bri 1936
Solvesborgs BK

Tyreso BK - Varnamo BK
Bohus Nations BS
Orebridgen

Orebridgen

Orebridgen
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86 177 7414 36.78 Bo Alsenmyr - Marita Alsenmyr 5132 5133 Kumla BS
87 174 660.8 32.78 Martin Broome - Valerie Broome +511 4512 England
1 4 DKn1096 Basta kontrakt 2 410432 Basta kontrakt 3 41054 Basta kontrakt
Nord v 652 4¢ ND-1-100 Ost v Kn108 4NT O =-430 Syd vD8 5v SD-1-100
Ingen + DKn1062 NS + 8654 ov + D105
*- & ¢ v & NT *E2 & ¢ v & NT #EK543 & ¢ v & NT
a- » K87432 N3 9586 «Kn » K987 N2 3353 «Kn732 4 ED96 N 9 3 103 5
vEDKnN987 v- S39586 vEK972 63 S$23353 vE432 v6 S 9 3 103 5
+3 ¢ K987 O 103 8 4 6 ¢ EK102 ¢ D9 O 1110108 10 4632 ¢EKKn974 O 3 103 108
#K109853 #E42 vV 103 7 4 7 «D73 #KKn1095 Vv 1110108 10 297 *Kn6 V 3 103 108
aE5 » ED65 4 K8
v K1043 v D54 v KKn10975
¢+ E54 ¢+ Kn73 +8
#DKn76 »864 +D1082
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéng
271 210 44DO-5 ¢A 1100 84.0 0.0(180 101 4v V-1  #A 50 840 0.0(105 177 4vyDS+1 #9 690 84.0 0.0
476 407 4vDV-4 +Q 800 82.0 2.0(301 303 2v V+1 &A -140 80.0 4.0(104 178 5¢DS= #9 650 82.0 20
401 403 4vDV-3 ¢Q 500 80.0 4.0(304 379 2v V+1 43 -140 80.0 4.0(275 208 44DS= 42 510 80.0 4.0
276 205 24DN= &A 470 78.0 6.0|475 408 2v V+1 45 -140 80.0 4.0|403 478 4v S+1 ¢6 450 78.0 6.0
104 177 5#DV-2 +¢Q 300 75.0 9.0|279 202 3v V+1 @A -170 75.0 9.0(180 102 4v S= a3 420 70.0 14.0
175 106 4vDV-2 ¢J 300 75.0 9.0(404 479 2y V+2 43 -170 75.0 9.0(204 279 4v S= +6 420 70.0 14.0
109 172 34 O-4 vK 200 69.0 15.0 (271 210 INV+3 4 -180 71.0 13.0(210 273 4v S= ¢6 420 70.0 14.0
180 101 34 O-4 #Q 200 69.0 15.0|377 306 2NV +2 48 -180 71.0 13.0 (277 206 4v N= ¢K 420 70.0 14.0
310 373 34 O-4 #Q 200 69.0 15.0 (401 403 2v V+3 #A -200 68.0 16.0(371 310 4v S= ¢2 420 70.0 14.0
370 371 34 O-4 48 200 69.0 15.0 (104 177 3NO= *8 -400 61.0 23.0(373 308 4v S= ¢6 420 70.0 14.0
111 170 4v V-3 +Q 150 60.0 24.0 (110 171 3NO= *4 -400 61.0 23.0 (473 408 4v S= a3 420 70.0 14.0
280 201 3NO-3 #7 150 60.0 24.0(211 270 3NO= 46 -400 61.0 23.0(276 207 44 V-3 #A 300 61.0 23.0
304 379 2NS+1 #8 150 60.0 24.0 274 207 3NO= 45 -400 61.0 23.0(479 402 44 V-3 #A 300 61.0 23.0
305 378 3v V-3 ¢Q 150 60.0 24.0 (372 311 3NV = 46 -400 61.0 23.0(103 179 5¢ O-2 #Q 200 54.0 30.0
405 478 24 O-3 ¢A 150 60.0 24.0 474 409 3NO= 46 -400 61.0 23.0(110 173 4¢DO-1 ¥J 200 54.0 30.0
470 471 24 N+1 &A 140 54.0 30.0 (209 272 4v V= aT -420 54.0 30.0(201 203 34 O-2 #8 200 54.0 30.0
475 408 INS+1 ¥8 120 52.0 32.0(102 179 3NO+1 +4 -430 31.0 53.0(380 301 3v S+2 ¢2 200 54.0 30.0
102 179 4+ V-2 +Q 100 46.0 38.0(105 176 3NV +1 43 -430 31.0 53.0(480 401 5¢ O-2 #8 200 54.0 30.0
105 176 3v V-2 «Q 100 46.0 38.0 (109 172 3NO+1 #8 -430 31.0 53.0(174 109 3v S+1 ¢6 170 46.0 38.0
173 108 3v V-2 +Q 100 46.0 38.0 (111 170 3ANO+1 3 -430 31.0 53.0(375 306 3v S+1 #9 170 46.0 38.0
275 206 3NO-2 #6 100 46.0 38.0(174 107 3NO+1 &8 -430 31.0 53.0(474 407 3v S+1 +6 170 46.0 38.0
480 402 24 O-2 v4 100 46.0 38.0(175 106 3NV +1 &2 -430 31.0 53.0(379 302 44N+1 ¢A 150 42.0 420
110 171 3v V-1  +Q 50 36.0 48.0 (203 278 3NO+1 46 -430 31.0 53.0(471 410 3#N+1 +A 130 40.0 44.0
372 311 3#40-1 4Q 50 36.0 48.0(204 277 3NO+1 3 -430 31.0 53.0(101 107 34 V-1 #K 100 30.0 54.0
374 309 3&#V-1 +Q 50 36.0 48.0(275 206 3BNO+1 +¢8 -430 31.0 53.0(170 171 44 O-1 #8 100 30.0 54.0
380 302 44 V-1 «Q 50 36.0 48.0(276 205 3NO+1 &4 -430 31.0 53.0(175 108 5¢ O-1 9 100 30.0 54.0
410 473 3#V-1 ¢Q 50 36.0 48.0(280 201 3NV +1 46 -430 31.0 53.0(205 278 44 V-1 vQ 100 30.0 54.0
377 306 2NS-1  vJ -50 29.0 55.0|305 378 3NO+1 8 -430 31.0 53.0(272 211 4¢ O-1 T 100 30.0 54.0
404 479 3¢ N-1  #A -50 29.0 55.0|310 373 3NO+1 #8 -430 31.0 53.0(304 377 44 V-1 #A 100 30.0 54.0
477 406 2NN-2 8 -100 26.0 58.0(374 309 3NO+1 &5 -430 31.0 53.0(374 307 24 O-1 vJ 100 30.0 54.0
203 278 3& V= +Q -110 24.0 60.0(375 308 3NV +1 ¢4 -430 31.0 53.0(404 477 24 V-1 8 100 30.0 54.0
174 107 4« V= +Q -130 20.0 64.0(376 307 3NV +1 &2 -430 31.0 53.0(475 406 44 V-1 #A 100 30.0 54.0
211 270 4& V= +Q -130 20.0 64.0(380 302 3NO+1 3 -430 31.0 53.0(270 271 4v S-1 +6 -50 20.0 64.0
273 208 3+ V+1l ¢Q -130 20.0 64.0(405 478 3NO+1 #A -430 31.0 53.0(172 111 3¢ O+1 ¥5 -130 16.0 68.0
279 202 3v V= +Q -140 14.0 70.0 410 473 3NO+1 4 -430 31.0 53.0(274 209 3¢ O+1 #Q -130 16.0 68.0
301 303 2v V+1 ¢Q -140 14.0 70.0 (470 471 3NO+1 &6 -430 31.0 53.0(409 472 3¢ O+1 &K -130 16.0 68.0
376 307 2v V+1 ¢2 -140 14.0 70.0 (476 407 3NO+1 45 -430 31.0 53.0(280 202 24 V+1 ¢Q -140 10.0 74.0
274 207 4+ V+1l 4Q -150 9.0 75.0(480 402 3NO+1 &5 -430 31.0 53.0(376 305 34 V= v8 -140 10.0 74.0
375 308 3#V+2 v5 -150 9.0 75.0(273 208 4v V+1 #A -450 7.0 77.0(476 405 34 O= v9 -140 10.0 74.0
474 409 44D N-2 #A -300 6.0 78.0(477 406 4v V+1 T -450 7.0 77.0(106 176 34 V+1 &#A -170 5.0 79.0
103 178 3NV = +Q -400 4.0 80.0(103 178 3NO+2 45 -460 3.0 81.0(309 372 34 V+1 #A -170 5.0 79.0
209 272 44DV= ¢Q -510 2.0 82.0(173 108 3NO+2 ¢J -460 3.0 81.0(303 378 4e V= *A -620 1.0 83.0
204 277 4vyDV= ¢Q -590 0.0 84.0(370 371 2¢DN-4 v9 -1100 0.0 84.0(311 370 44 V= vQ -620 1.0 83.0
472 - 40.1 472 - 40.1 - 470 53.1
4 + ED1065 Basta kontrakt 5 & KKn932 Basta kontrakt 6 & 87432 Basta kontrakt
Vast v KKn9 3¢ V =-110 Nord v5 44 N =620 Ost v 10642 3NT O =-600
Alla +D4 NS +1042 ov +76
#Kn75 & ¢ v & NT #EK73 & ¢ v & NT 109 & ¢ v & NT
8 « K743 N5 4886 4 865 «E4 N7 9 6 109 a5 » K1096 N3 3564
v42 v 853 S51776 vED108 v7432 S 89 7 109 vE875 vKKn S33564
+ K72 ¢EKn10965 O 8 9 4 5 7 + D63 4987 0546 34 ¢Kn95 ¢ ED104 O 10108 7 9
#ED109863 - V89457 #DKn9 #8642 V54634 #K7643 #E52 vV 109 7 6 9
& Kn92 « D107 « EDKn
vED1076 v KKn96 v D93
+83 ¢ EKKn5 ¢ K832
*K42 #105 #DKn8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
180 102 44 N= v3 620 830 10(106 177 44 N+1 3 650 780 6.0|111 174 2vV-1 &T 100 820 20
474 407 44 N= v3 620 83.0 10(107 176 44 N+1 v7 650 780 6.0(377 310 2NO-1 +3 100 82.0 20
274 209 4#DV-2 ¢K 500 80.0 4.0(111 174 44 N+1 #8 650 780 6.0(478 409 3NO-1 ¢2 100 82.0 20
473 408 6¢ O-3 ¢3 300 780 6.0|175 110 44 N+1 v7 650 780 6.0(171 172 INS-1 5 -50 77.0 7.0
371 310 4¢DO-1 42 200 76.0 80180 103 44 N+1 #8 650 78.0 6.0(275 210 24 N-1 %A 50 77.0 7.0
476 405 34 N+1 ¢A 170 74.0 10.0 206 279 44 N+1 ¢9 650 78.0 6.0(406 402 24 N-2 &2 -100 74.0 10.0
105 177 34 N= v3 140 69.0 15.0 278 207 44 N+1 v5 650 780 6.0(180 103 INO+1 #Q -120 72.0 12.0
304 377 34 N= ¢A 140 69.0 15.0|104 179 3NS+1 48 630 66.0 18.0 (403 405 3+ V+1 8 -130 70.0 14.0
309 372 34 N= ¢A 140 69.0 150|171 172 3NS+1 v8 630 66.0 18.0 (105 178 INO+2 3 -150 64.0 20.0
311 370 3v S= 8 140 69.0 150|380 304 3NS+1 T 630 66.0 18.0 (202 204 INO+2 &5 -150 64.0 20.0
106 176 5¢ O-1 42 100 60.0 24.0 474 471 3NS+1 v8 630 66.0 18.0 (372 373 INO+2 3 -150 64.0 20.0
210 273 5¢ O-1 & 100 60.0 24.0|479 408 3NS+1 T 630 66.0 18.0 (380 304 INO+2 3 -150 64.0 20.0
270 271 3#V-1 ¢Q 100 60.0 24.0 (102 108 44 N= v6 620 48.0 36.0(480 404 INO+2 2 -150 64.0 20.0
376 305 3#V-1 45 100 60.0 24.0 (202 204 44 N= v7 620 48.0 36.0(101 109 INO+3 3 -180 55.0 29.0
475 406 3#V-1 v9 100 60.0 24.0|211 274 44 N= v2 620 48.0 36.0(102 108 2NO+2 3 -180 55.0 29.0
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170 171 4v S-1 a8 -100 49.0 35.0|271 272 44 N= v7 620 48.0 36.0(106 177 INO+3 ¢2 -180 55.0 29.0
204 279 34 N-1 +A -100 49.0 35.0|273 270 44 N= +9 620 48.0 36.0|277 208 2NO+2 8 -180 55.0 29.0
276 207 34 N-1  +A -100 49.0 35.0|275 210 44 N= v7 620 48.0 36.0(173 170 INDS-2 &3 -300 50.0 34.0
277 206 34 N-1  +A -100 49.0 35.0|280 203 44 N= +9 620 48.0 36.0(107 176 3NO= +4 -600 36.0 48.0
280 202 34 N-1 ¢33 -100 49.0 35.0|307 301 44 N= v3 620 48.0 36.0 (205 201 3NO= 2 -600 36.0 48.0
379 302 34 N-1 +A -100 49.0 35.0|370 375 44 N= +8 620 48.0 36.0(211 274 3NO= +3 -600 36.0 48.0
172 111 34 V= a5 -110 42.0 42.0|372 373 44 N= v3 620 48.0 36.0(271 272 3NO= 2 -600 36.0 48.0
373 308 3¢ O+1 a2 -130 40.0 44.0|377 310 44 N= +9 620 48.0 36.0 (273 270 3NO= 2 -600 36.0 48.0
104 178 44 N-2 ¢A -200 28.0 56.0 | 477 410 44 N= aA 620 48.0 36.0(280 203 3NO= +3 -600 36.0 48.0
110 173 44 N-2 ¢A -200 28.0 56.0 | 478 409 44 N= v7 620 48.0 36.0(307 301 3NO= v3 -600 36.0 48.0
201 203 3v S-2 &A -200 28.0 56.0 374 371 3NS= «Q 600 33.0 51.0 (374 371 3NO= 2 -600 36.0 48.0
205 278 3v S-2  #A -200 28.0 56.0 (376 311 3NS= LN 600 33.0 51.0(378 309 3NO= *Q -600 36.0 48.0
272 211 44 N-2 +A -200 28.0 56.0|205 201 14 N+3 %6 170 28.0 56.0 (470 475 3NO= 2 -600 36.0 48.0
275 208 34DN-1 +A -200 28.0 56.0 277 208 24 N+2 v4 170 28.0 56.0|472 473 3NO= v3 -600 36.0 48.0
303 378 3v N-2 &A -200 28.0 56.0 480 404 14 N+3 #4 170 28.0 56.0 474 471 3NO= +3 -600 36.0 48.0
374 307 44 N-2 +A -200 28.0 56.0|403 405 24 N+1 9 140 24.0 60.0 479 408 3NO = 2 -600 36.0 48.0
375 306 44 N-2 ¢A -200 28.0 56.0|101 109 44 N-1 46 -100 11.0 73.0|206 279 3NO+1 2 -630 16.0 68.0
403 478 44 N-2 +A -200 28.0 56.0 (105 178 44 N-1  aA -100 11.0 73.0(276 209 3NO+1 2 -630 16.0 68.0
404 477 44 N-2  v8 -200 28.0 56.0 (173 170 44 N-1 «A -100 11.0 73.0(278 207 3NO+1 ¢2 -630 16.0 68.0
101 107 44 N-3 8 -300 12.0 72.0(276 209 44 N-1 &A -100 11.0 73.0|376 311 3NO+1 2 -630 16.0 68.0
103 179 44 N-3 3 -300 12.0 72.0(303 305 44 N-1 &A -100 11.0 73.0(379 308 3NO+1 ¢2 -630 16.0 68.0
174 109 4v S-3 &A -300 12.0 72.0|306 302 44 N-1 v7 -100 11.0 73.0(407 401 3NO+1 &Q -630 16.0 68.0
380 301 44 N-3 v3 -300 12.0 72.0|378 309 44 N-1 9 -100 11.0 73.0|477 410 3NO+1 2 -630 16.0 68.0
471 410 4v S-3  &A -300 12.0 72.0(379 308 44 N-1 v4 -100 11.0 73.0(175 110 3NO+2 2 -660 7.0 77.0
479 402 4v S-4 48 -400 5.0 79.0|406 402 44 N-1 9 -100 11.0 73.0(303 305 3NO+2 ¢8 -660 7.0 77.0
480 401 3v S-4 48 -400 5.0 79.0|407 401 44 N-1 %8 -100 11.0 73.0(104 179 3NDO= #Q -750 4.0 80.0
175 108 4v S-5 48 -500 1.0 83.0|470 475 44 N-1 &6 -100 11.0 73.0(370 375 2ND O +1 ¢2 -890 2.0 82.0
409 472 4v S-5 48 -500 1.0 83.0|472 473 44 N-1 9 -100 11.0 73.0|306 302 3NDO+1 2 -950 0.0 84.0
- 470 53.1|476 - 41.3 476 - 41.3
7 4 D10973 Basta kontrakt 8 o E Basta kontrakt 9 & EK7532 Basta kontrakt
Syd v 864 1lv S =80 Vast vKKn 54 N =400 Nord vD5 3¢ O =-110
Alla + D10 Ingen ¢ E103 ov + E108
#E93 & ¢ v & NT #DKn108542 & ¢ v & NT &D7 & ¢ v & NT
sE4 & K8652 N57 6 65 4 DKn 4109864 N 116 4 6 6 49 4 DKn104 N6 476 4
v3 v K10752 S677 66 v 1098653 vED74 S 116 4 6 6 vEK1032 v8 S6 476 4
¢ K954 +82 0755605 + Kn854 ¢+ D62 027867 + D43 ¢ KKn965 079567
#KD10652 8 V65564 »E &K V27867 #E854 #632 V79567
4 Kn 4 K7532 4 86
v EDKn9 v2 v Kn9764
+ EKn763 + K97 *72
&Kn74 #9763 #KKn109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
278 209 44DO-4 ¢A 1100 84.0 0.0|375 310 3«aDO-4 v2 800 84.0 0.0(277 270 3#aDV-3 4K 800 84.0 0.0
105 179 34D O-3 ¢A 800 82.0 2.0|206 202 54DN= vA 550 82.0 2.0|102 170 3+ O-3 A 300 82.0 2.0
107 177 3NN+2 2 660 80.0 4.0|376 309 54 N+1 v4 420 780 6.0(107 178 34« V-2 &K 200 780 6.0
274 271 3NN= v5 600 780 6.0[(377 308 54 N+1 v4 420 780 6.0(207 203 3vV-2 4K 200 78.0 6.0
276 211 34«DV-2 ¥8 500 76.0 8.0(471 472 54 N+1 v4 420 78.0 6.0(380 306 4¢DO-1 48 200 78.0 6.0
302 304 3NV-4 +Q 400 74.0 10.0(105 179 5# N = 2 400 63.0 21.0(180 105 24 N+1 8 140 69.0 15.0
180 104 24 V-2 ¢Q 200 70.0 140|170 175 5# N= vA 400 63.0 21.0(275 272 24 N+1 8 140 69.0 15.0
375 310 3& V-2 ¢+Q 200 70.0 14.0(172 173 5« N= vA 400 63.0 21.0(301 311 34 N= v8 140 69.0 15.0
480 403 24 O-2 &4 200 70.0 14.0(203 205 5# N = vA 400 63.0 21.0(305 307 24 N+1 8 140 69.0 15.0
277 210 3¢ N+2 v3 150 66.0 18.0 (274 271 5# N= vA 400 63.0 21.0(309 303 24 N+1 8 140 69.0 15.0
172 173 3¢ S+1 3 130 64.0 20.0 (276 211 5# N= T 400 63.0 21.0(372 377 24 N+1 8 140 69.0 15.0
270 275 3¢ S= «K 110 61.0 23.0 (277 210 5% S= vA 400 63.0 21.0(109 176 24 N= v8 110 58.0 26.0
376 309 2v S= K 110 61.0 23.0(278 209 5# N = 4T 400 63.0 21.0(208 202 24 N= v8 110 58.0 26.0
206 202 3# V-1 ¢+Q 100 56.0 28.0|279 208 5# N = T 400 63.0 21.0(278 211 24 N= v8 110 58.0 26.0
373 370 3« V-1 +Q 100 56.0 28.0|306 379 5# N = vA 400 63.0 21.0(308 304 24 N= v8 110 58.0 26.0
378 307 3#V-1 +Q 100 56.0 28.0|373 370 5# N= 4T 400 63.0 21.0 (402 410 24 N= v8 110 58.0 26.0
272 273 INS= &K 90 52.0 32.0|405 401 5# N = vA 400 63.0 21.0 (175 172 3NO-1 6 100 50.0 34.0
203 205 2# V= +Q -90 49.0 35.0|406 479 24 N+4 v4 170 50.0 34.0(201 209 5¢ O-1 46 100 50.0 34.0
280 204 24 V= +Q -90 49.0 35.0|101 111 44 N+1 vA 150 35.0 49.0|472 477 3¢ O-1 48 100 50.0 34.0
108 176 3v S-1 &K -100 40.0 44.0(102 110 44 N+1 vA 150 35.0 49.0106 179 24 N-1  v8 -50 35.0 49.0
174 171 2¢ S-1 v3 -100 40.0 44.0(103 109 4« N+1 vA 150 35.0 49.0|108 177 24 N-1  +8 -50 35.0 49.0
207 201 3¢ S-1 «K -100 40.0 44.0|106 178 3« N+2 T 150 35.0 49.0(171 101 34 N-1 +8 -50 35.0 49.0
371 372 2v S-1 aA -100 40.0 44.0(180 104 34 S+2 &T 150 35.0 49.0|204 206 24 N-1 +8 -50 35.0 49.0
471 472 3v S-1  &A -100 40.0 44.0|270 275 4 N+1 vA 150 35.0 49.0|273 274 24 N-1  v8 -50 35.0 49.0
477 408 2N S-1 *5 -100 40.0 44.0|272 273 24 N+3 T 150 35.0 49.0|279 210 24 N-1 +8 -50 35.0 49.0
478 407 2N S-1 *6 -100 40.0 44.0(280 204 4 N+1 vA 150 35.0 49.0{280 205 24 N-1 v8 -50 35.0 49.0
102 110 3¢ S-2 v3 -200 28.0 56.0|302 304 3# N+2 48 150 35.0 49.0{302 310 24 N-1 +8 -50 35.0 49.0
170 175 24 N-2 &8 -200 28.0 56.0|311 374 3« N+2 2 150 35.0 49.0409 403 24 N-1 ¢5 -50 35.0 49.0
305 301 3¢ S-2 v3 -200 28.0 56.0|371 372 24 N+3 T 150 35.0 49.0|474 475 24 N-1 +8 -50 35.0 49.0
311 374 24 N-2 &8 -200 28.0 56.0 476 409 4 N+1 vA 150 35.0 49.0|476 473 34 N-1 +8 -50 35.0 49.0
476 409 3v S-2 aA -200 28.0 56.0 | 477 408 24 N+3 &4 150 35.0 49.0|479 470 24 N-1  +8 -50 35.0 49.0
101 111 24 N-3 &8 -300 20.0 64.0|478 407 44 N+1 &T 150 35.0 49.0103 111 24 N-2 +8 -100 17.0 67.0
377 308 3v S-3 &K -300 20.0 64.0|107 177 4vDV-1 &A 100 19.0 65.0(374 375 34 N-2 8 -100 17.0 67.0
473 470 24 N-3 &8 -300 20.0 64.0 (475 410 4v V-2 A 100 19.0 65.0(379 370 34 N-2 8 -100 17.0 67.0
106 178 3NN-4 &8 -400 9.0 75.0(207 201 4v V-1  «A 50 16.0 68.0 (405 407 24 N-2 &6 -100 17.0 67.0
279 208 3v S-4 &K -400 9.0 75.0(380 303 5&# N-1 &T -50 14.0 70.0|408 404 24 N-2 v8 -100 17.0 67.0
306 379 4¢ S-4 &6 -400 9.0 750|305 301 3v O+1 &8 -170 11.0 73.0(478 471 34 N-2 ¢8 -100 17.0 67.0
380 303 3NN-4 #8 -400 9.0 75.0(473 470 3v V+1 &A -170 11.0 73.0(104 110 3¢ O= 48 -110 8.0 76.0
402 404 24 N-4 &8 -400 9.0 75.0|108 176 4v O= 3 -420 8.0 76.0(271 276 3¢ O= 48 -110 8.0 76.0
405 401 3NN-4  #8 -400 9.0 75.0(378 307 4v V+1 #Q -450 6.0 78.0|378 371 3¢ O= 48 -110 8.0 76.0
406 479 24 N-4 %6 -400 9.0 75.0(402 404 44DS-3 ¥T -500 4.0 80.0|173 174 24 N-3 +v8 -150 3.0 81.0
475 410 3NN-4 &8 -400 9.0 75.0|174 171 34DO= 2 -530 2.0 82.0(376 373 24 N-3 ¢8 -150 3.0 81.0
103 109 3NN-5 &8 -500 0.0 84.0(480 403 4vDV= aA -590 0.0 84.0|480 406 3NO+1 8 -630 0.0 84.0
- 474 54.4 - 474 54.4 | 401 - 56.7
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10 475 Basta kontrakt 11 4 K98 Basta kontrakt 12 41087542 Basta kontrakt
Ost vE10763 34 S =140 Syd v52 3 S =110 Vast v K2 64 N =1430
Alla + Kn94 Ingen +E3 NS *4
#Kn84 & ¢ v & NT #Kn106543 & ¢ v & NT #D963 & ¢ v & NT
4 862 « KDKn N9 7 998 4« D43 762 N9 5576 4 E6 493 N 127 10128
v Kn4 v D952 S97 9938 v K96 vDKn1083 S 9 55 7 6 v 743 v DKn65 S 127 9 128
+D10872 ¢ 653 035445 ¢ D1072 ¢ KKn4 037756 + KDKn107 ¢ 9863 015311
#KD10 £962 V35445 &E72 #K9 V37756 *742 #1085 V15311
4« E10943 & EKn105 &« KDKn
v K8 vE74 vE1098
¢ EK 4 9865 ¢ E52
#E753 «D8 #EKKn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéng
106 179 3NN+1 v2 630 84.0 0.0|101 173 3NDV-3 #4 500 84.0 0.0|301 309 64 N= 42 1430 84.0 0.0
208 202 44 S= «K 620 82.0 2.0|110 176 3# N= vQ 110 81.0 3.0{201 211 4¢DV-4 &7 800 81.0 3.0
372 377 3NN= K 600 79.0 5.0(209 203 24 S= A 110 81.0 3.0(377 370 4¢DV-4 44 800 81.0 30
474 475 3NN = K 600 79.0 50105 111 3v O-2 +6 100 75.0 9.0(104 170 44 N+2 v6 680 49.0 35.0
201 209 2¢vDO-2 ¢A 500 76.0 8.0(377 370 4v O-2 ¢9 100 75.0 9.0(105 111 44 N+2 9 680 49.0 35.0
180 105 14 S+3 &K 170 74.0 10.0 (379 310 3NV-2 *6 100 75.0 9.0(107 179 44 S+2 ¢K 680 49.0 35.0
305 307 2NN+1 ¢5 150 72.0 12.0 (475 472 2NV -2 »3 100 750 9.0(108 178 44 N+2 6 680 49.0 35.0
277 270 14 S+2 vJ 140 67.0 17.0(307 303 INN= vQ 90 70.0 14.0(109 177 44 N+2 +¢6 680 49.0 35.0
309 303 2v S+1 ¢7 140 67.0 17.0(108 178 3NV -1 oK 50 61.0 23.0 (110 176 44 N+2 9 680 49.0 35.0
374 375 14 S+2 &K 140 67.0 17.0(202 210 INV-1 &4 50 61.0 23.0(180 106 54 S+1 ¢K 680 49.0 35.0
376 373 34 S= vJ] 140 67.0 17.0 (272 277 3v O-1 #Q 50 61.0 23.0(202 210 44 N+2 +¢9 680 49.0 35.0
108 177 2NN= v5 120 60.0 24.0(280 206 3v O-1 9 50 61.0 23.0 205 207 44 S+2 +Q 680 49.0 35.0
280 205 2N N= *2 120 60.0 24.0(373 374 INV-1 &4 50 61.0 23.0 (208 204 44 N+2 3 680 49.0 35.0
478 471 INN+1 2 120 60.0 24.0 (378 311 INV-1 LN 50 61.0 23.0 (209 203 44 N+2 48 680 49.0 35.0
176 109 14 S+1 v 110 53.0 31.0(408 402 3v O-1 4T 50 61.0 23.0(272 277 44 S+2 +Q 680 49.0 35.0
275 272 3% S= 2 110 53.0 31.0(471 476 3v O-1 45 50 61.0 23.0(274 275 54 N+1 +8 680 49.0 35.0
379 370 14 S+1 2 110 53.0 31.0|104 170 Pass 36.0 48.0(276 273 44 S+2 +K 680 49.0 35.0
380 306 3#S= v] 110 53.0 31.0(172 102 Pass 36.0 48.0(278 271 44 N+2 o7 680 49.0 35.0
102 170 34 S-1 42 -100 33.0 51.0|201 211 Pass 36.0 48.0(279 270 44 N+2 ¢9 680 49.0 35.0
103 111 24 S-1  ¢2 -100 33.0 51.0|205 207 Pass 36.0 48.0(280 206 44 N+2 43 680 49.0 35.0
104 110 3NN-1 &K -100 33.0 51.0 (208 204 Pass 36.0 48.0|304 306 44 S+2 ¢K 680 49.0 35.0
171 101 3NS-1 2 -100 33.0 51.0|274 275 Pass 36.0 48.0(307 303 44 N+2 43 680 49.0 35.0
175 172 3NS-1 +8 -100 33.0 51.0|278 271 Pass 36.0 48.0|308 302 44 N+2 vQ 680 49.0 35.0
204 206 3NN-1 ¢2 -100 33.0 51.0|279 270 Pass 36.0 48.0(371 376 44 S+2 +K 680 49.0 35.0
271 276 3NN-1 v2 -100 33.0 51.0|301 309 Pass 36.0 48.0(373 374 44 S+2 +K 680 49.0 35.0
273 274 3v N-1 &K -100 33.0 51.0|304 306 Pass 36.0 48.0|378 311 44 N+2 vQ 680 49.0 35.0
278 211 3#S-1  ¢2 -100 33.0 51.0(308 302 Pass 36.0 48.0|401 409 44 N+2 v6 680 49.0 35.0
279 210 3NN-1 &K -100 33.0 51.0|375 372 Pass 36.0 48.0 (408 402 44 N+2 ¢6 680 49.0 35.0
301 311 3NN-1 v2 -100 33.0 51.0|380 305 Pass 36.0 48.0|471 476 44 N+2 v5 680 49.0 35.0
378 371 3NS-1 v2 -100 33.0 51.0 (401 409 Pass 36.0 48.0 (473 474 44 N+2 3 680 49.0 35.0
402 410 3NN-1 v2 -100 33.0 51.0 404 406 Pass 36.0 48.0 (475 472 44 S+2 +K 680 49.0 35.0
409 403 3NN-1 v2 -100 33.0 51.0 (479 410 Pass 36.0 48.0 (477 470 44 N+2 49 680 49.0 35.0
472 477 44 S-1 +7 -100 33.0 51.0 (480 405 Pass 36.0 48.0(479 410 54 N+1 ¢9 680 49.0 35.0
480 406 2NN-1  v5 -100 33.0 51.0|107 179 INN-1 #3 -50 17.0 67.0|480 405 44 S+1 ¢K 650 18.0 66.0
107 178 3NN-2 &K -200 11.0 73.0(371 376 3« N-1 vQ -50 17.0 67.0|379 310 2NS= +K 120 16.0 68.0
207 203 3NN-2 ¢2 -200 11.0 73.0(276 273 INN-2 vQ -100 14.0 70.0 |407 403 2¢ V-2 &3 100 14.0 70.0
302 310 44 S-2 &K -200 11.0 73.0|103 171 3v O = *Q -140 7.0 77.0(103 171 3NS-1 ¢+ K -100 10.0 74.0
308 304 3NN-2 &2 -200 11.0 73.0(109 177 3v O= *0Q -140 7.0 77.0|375 372 3NS-1 + K -100 10.0 74.0
408 404 44 S-2  ¢2 -200 11.0 73.0(174 175 3v O= +8 -140 7.0 77.0(404 406 3NN-1 K -100 10.0 74.0
476 473 4v S-2 48 -200 11.0 73.0(180 106 2v O+1 #Q -140 7.0 77.0(172 102 3NS-2 ¢+ K -200 6.0 78.0
173 174 3NS-3 .7 -300 2.0 82.0(473 474 2v O+1 46 -140 7.0 77.0(101 173 6NS-4 ¢K -400 3.0 81.0
405 407 3NN-3 ¢6 -300 2.0 82.0|477 470 3v O= a A -140 7.0 77.0(380 305 6NS-4 +K -400 3.0 81.0
479 470 44 S-3 ¢7 -300 2.0 82.0|407 403 INN-3 #3 -150 0.0 84.0|174 175 6y N-5 8 -500 0.0 84.0
401 - 56.7 478 - 38.5 478 - 38.5
13 4 D652 Basta kontrakt 14 4753 Basta kontrakt 15 4K Basta kontrakt
Nord v 107632 44 O =-620 Ost v KKn952 2¢ S =90 Syd v D984 54 V =-450
Alla + EKn2 Ingen 4 Kn2 NS + K97
»8 & ¢ v & NT #E104 & ¢ v & NT #E8763 & ¢ v & NT
2 Kn943 4 EK10 N17 433 «Knl0 « KD984 N4 86 65 a7 « EKNn1096543N 6 5 5 2 3
vED94 ¢85 S17 433 vD7 v 10843 S 48665 vEKn653 v 10 S655 23
+8 +1064 O 115 8 107 + K76 ¢E10 084677 ¢ EDKn10 +¢83 O7 8 8 107
D643 #EK1095 V 115 8 107 #DKn7652 #K9 V84677 #D105 #K9 V788 117
87 ~ E62 D82
v KKn vE6 v K72
+ KD9753 + D98543 46542
*Kn72 83 #Kn42
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
102 174 3NO-2 ¢5 200 84.0 0.0|173 103 3NV -6 *J 300 82.0 20276 277 3NV-1 *6 50 83.0 1.0
180 107 2¢DS= &4 180 81.0 3.0|277 274 44DO-2 vA 300 82.0 2.0|375 376 44 O-1 46 50 83.0 1.0
202 270 2¢DN= #4 180 81.0 3.0|407 409 3NV -6 v5 300 82.0 2.0(106 172 34 O= +4 -140 79.0 5.0
111 176 3¢ S= 3 110 780 6.0(476 477 2NV -5 +*J 250 78.0 6.0(274 279 34 O= LN -140 79.0 5.0
109 178 3v V-1 ¢A 100 74.0 10.0(209 205 3¢ S= ] 110 75.0 9.0(101 102 44 O= ¢+6 -420 65.0 19.0
203 211 54 0-1 ¢K 100 74.0 10.0 (307 309 3¢ S= ] 110 75.0 9.0(107 171 44 O= LN -420 65.0 19.0
279 272 3vV-1 ¢A 100 74.0 10.0(201 271 3NO-2 +¢5 100 67.0 17.0(109 179 44 O= &4 -420 65.0 19.0
303 371 INO= ¢ 7 -90 69.0 15.0|275 276 4a V-2 +J 100 67.0 17.0(110 178 44 O= +4 -420 65.0 19.0
376 377 INO= + K -90 69.0 15.0|304 370 44 O-2 vA 100 67.0 17.0 111 177 44 O= .7 -420 65.0 19.0
403 471 3¢ S-1 43 -100 66.0 18.0|374 379 44 O-2 vA 100 67.0 17.0(203 271 44 O= &4 -420 65.0 19.0
106 170 2v V= »8 -110 64.0 20.0|378 375 3NO-2 45 100 67.0 17.0 (278 275 44 O= &4 -420 65.0 19.0
104 172 3# O +2 +¢K -150 49.0 35.0(380 308 34 O-2 ¢4 100 67.0 17.0 280 208 44 O= +6 -420 65.0 19.0
173 103 3# O+2 K -150 49.0 35.0(202 270 2¢ S= ] 90 60.0 24.0(303 311 44 O= LN -420 65.0 19.0
209 205 3# 0 +2 +¢K -150 49.0 35.0|102 174 24 O-1 %8 50 48.0 36.0|379 372 44 O= ¢+6 -420 65.0 19.0
277 274 34 0+2 +Q -150 49.0 35.0(104 172 24 O-1 vA 50 48.0 36.0 (401 471 44 O= +5 -420 65.0 19.0
280 207 3#0O0+2 +¢K -150 49.0 35.0(111 176 2NV -1 *J 50 48.0 36.0 409 405 44 O= 6 -420 65.0 19.0
301 373 44 0+1 +¢K -150 49.0 35.0(175 101 34 O-1 YA 50 48.0 36.0103 175 44 O+1 #J -450 28.0 56.0
310 306 3# O+2 +¢K -150 49.0 35.0(180 107 24 O-1 +8 50 48.0 36.0 (105 173 44 O+1 &2 -450 28.0 56.0
311 305 3#0+2 +¢K -150 49.0 35.0(210 204 24 O-1 vA 50 48.0 36.0|170 176 44 O+1 &2 -450 28.0 56.0
378 375 INO+2 +¢K -150 49.0 35.0(301 373 2NV-1 v2 50 48.0 36.0|174 104 44 O+1 &2 -450 28.0 56.0
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380 308 4# O+1 a8 -150 49.0 35.0(310 306 3NV-1 L Y 50 48.0 36.0180 108 44 O+1 &2 -450 28.0 56.0
401 473 24 O+3 48 -150 49.0 35.0 (401 473 24 O-1 &8 50 48.0 36.0 (201 273 44 O+1 &2 -450 28.0 56.0
402 472 34 0+2 ¢K -150 49.0 35.0|404 470 34 O-1 vA 50 48.0 36.0(202 272 44 O+1 &2 -450 28.0 56.0
407 409 24 O+3 vK -150 49.0 35.0|410 406 24 O-1 +8 50 48.0 36.0|204 270 54 O= &2 -450 28.0 56.0
476 477 3% O +2 48 -150 49.0 35.0|106 170 3¢ S-1 a] -50 35.0 49.0|207 209 44 O+1 #4 -450 28.0 56.0
108 179 24 O+4 +K -170 26.0 58.0 280 207 3¢ S-1 a] -50 35.0 49.0|210 206 44 O+1 &J -450 28.0 56.0
175 101 3#0+3 +¢Q -170 26.0 58.0|105 171 INV= v2 -90 29.0 55.0|211 205 44 O+1 &2 -450 28.0 56.0
210 204 34 O+1 #K -170 26.0 58.0|203 211 INV= v5 -90 29.0 55.0|301 371 44 O+1 &2 -450 28.0 56.0
302 372 3 O0+3 +¢K -170 26.0 58.0|402 472 INV= v5 -90 29.0 55.0|302 370 44 O+1 &J -450 28.0 56.0
304 370 3# O+3 3 -170 26.0 58.0|478 475 1INV = v2 -90 29.0 55.0|306 308 44 O+1 2 -450 28.0 56.0
307 309 3#0O0+3 ¢K -170 26.0 58.0|206 208 2vyDN-1 &K -100 22.0 62.0(309 305 44 O+1 +6 -450 28.0 56.0
410 406 3 O +3 ¢K -170 26.0 58.0|311 305 4¢DN-1 «J -100 22.0 62.0|310 304 44 O+1 &2 -450 28.0 56.0
478 475 44 O +2 a7 -170 26.0 58.0 (403 471 2v N-2 & K -100 22.0 62.0|373 378 44 O+1 &2 -450 28.0 56.0
480 408 24 O+4 vK -170 26.0 58.0 (273 278 24 O= LX) -110 14.0 70.0 (377 374 44 O+1 &2 -450 28.0 56.0
275 276 2¢DS-1 &4 -200 15.0 69.0|279 272 24 O= vA -110 14.0 70.0|380 307 44 O+1 &2 -450 28.0 56.0
374 379 4¢ S-2 &6 -200 15.0 69.0|303 371 24 O= LX) -110 14.0 70.0 | 402 470 44 O+1 &2 -450 28.0 56.0
110 177 34 S-3 &4 -300 12.0 72.0(376 377 3V = *J -110 14.0 70.0 (406 408 44 O+1 &2 -450 28.0 56.0
105 171 5 O = a8 -600 10.0 74.0|474 479 24 O= +8 -110 14.0 70.0 (473 478 44 O+1 &2 -450 28.0 56.0
201 271 54 O+1 ¢K -620 6.0 78.0|480 408 24 O+2 ¢4 -170 8.0 76.0|477 474 44 O+1 &4 -450 28.0 56.0
206 208 4e V= LX) -620 6.0 78.0|109 178 24 O+3 ¢4 -200 4.0 80.0 (479 472 44 O+1 #J -450 28.0 56.0
273 278 54 O+1 +¢K -620 6.0 78.0|110 177 24 O+3 &8 -200 4.0 80.0|480 407 44 O+1 %2 -450 28.0 56.0
474 479 44D O +1 vK -910 2.0 82.0(302 372 24 O+3 &8 -200 4.0 80.0 (410 404 3NV +2 #A -460 1.0 83.0
404 470 4vyDN-7 &K  -2000 0.0 84.0(108 179 3NS-6 *J -300 0.0 84.0(475 476 3NO+2 ¢4 -460 1.0 83.0
- 405 39.5 - 405 39.5|403 - 40.5
16 4 E97643 Basta kontrakt 17 41098543 Basta kontrakt 18 487 Basta kontrakt
Vast v 103 5v V =-650 Nord v D84 46 N =420 Ost v EKn9 ANT S =630
oV + Kn84 Ingen ¢ 764 NS + E943
&84 & ¢ v & NT &4 & ¢ v & NT &E743 & ¢ v & NT
4102 & Kn8 NOOOG6O0 & Kn & D2 N5 5 3 108 #103 & KKn942 N 1010109 10
vKD65 v EKn94 S00060 v K973 v EKn62 S 55 3 108 vD843 v652 S 1010101010
¢ EKD72 ¢ 103 O 1111117 7 ¢ KD1052 ¢ Kn9 088835 ¢+ DKn2 ¢1087 033333
&ED &#KKn1065 VvV 1111117 7 &#KDKn #98763 V 8 88 35 &#Kn985 &D2 V 33333
& KD5 & EK76 4 ED65
v872 v 105 v K107
¢ 965 ¢+ E83 + K65
#9732 #E1052 #K106
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
375 376 5NV -4 46 400 84.0 0.0(202 274 54DO-3 «A 500 84.0 0.0(275 201 3NS+3 &8 690 84.0 0.0
406 408 4N O -3 4K 300 82.0 2.0(110 179 44 N= +9 420 81.0 3.0(102 103 3NS+2 ¢3 660 78.0 6.0
109 179 3NV -2 46 200 78.0 6.0(406 472 44 S= &K 420 81.0 3.0(180 109 3NS+2 &5 660 78.0 6.0
401 471 6NV -2 oA 200 78.0 6.0(107 173 44D O-2 &K 300 770 7.0|1202 274 3NN+2 &5 660 78.0 6.0
479 472 4e V-2 46 200 78.0 6.0|401 477 5¢DO-2 %4 300 77.0 7.0|204 272 3NS+2 v4 660 78.0 6.0
111 177 6v V-1 oA 100 70.0 140|104 101 34 N+1 ¢J 170 68.0 16.0|376 302 3NS+2 &9 660 78.0 6.0
278 275 6v V-1 aA 100 70.0 140|108 172 34 N+1 9 170 68.0 16.0|104 101 3NS+1 ¥5 630 53.0 31.0
280 208 6v V-1 4A 100 70.0 14.0|203 273 24 S+2 &K 170 68.0 16.0|107 173 3NS+1 &5 630 53.0 31.0
380 307 6vy O-1 &K 100 70.0 14.0|208 210 24 S+2 &K 170 68.0 16.0|108 172 3NS+1 &8 630 53.0 31.0
475 476 6v O-1 &K 100 70.0 14.0|280 209 34 N+1 ¢J 170 68.0 16.0|110 179 3NS+1 &8 630 53.0 31.0
180 108 44 O+1 K -150 64.0 20.0|380 310 24 S+2 #K 170 68.0 16.0|111 178 3NS+1 T 630 53.0 31.0
310 304 44 N-4 +3 -200 62.0 22.0|403 475 34 S+1 &K 170 68.0 16.0|170 177 3NS+1 v4 630 53.0 31.0
106 172 5& V= a A -600 60.0 24.0|102 103 24 N+1 +9 140 40.0 44.0(175 105 3NS+1 v4 630 53.0 31.0
410 404 3NV +1 &A -630 58.0 26.0|106 174 34 S= &K 140 40.0 44.0(205 271 3NS+1 #3 630 53.0 31.0
103 175 5v V= aA -650 44.0 40.0|111 178 24 N+1 ¢J 140 40.0 44.0(208 210 3NS+1 ¢3 630 53.0 31.0
107 171 4v O+1 &K -650 44.0 40.0|170 177 34 N= *J 140 40.0 44.0(211 207 3NS+1 &9 630 53.0 31.0
110 178 4v V+1 &A -650 44.0 40.0|180 109 24 S+1 &7 140 40.0 44.0(270 206 3NS+1 &9 630 53.0 31.0
170 176 4v V+1 &A -650 44.0 40.0|204 272 34 N= vA 140 40.0 44.0 (277 278 3NS+1 T 630 53.0 31.0
201 273 4v V+1 46 -650 44.0 40.0|205 271 24 S+1 #K 140 40.0 44.0(301 377 3NS+1 v4 630 53.0 31.0
203 271 4v V+1 &K -650 44.0 40.0|270 206 24 S+1 ¢Q 140 40.0 44.0(303 375 3NS+1 ¢Q 630 53.0 31.0
207 209 4v O+1 &K -650 44.0 40.0|275 201 34 S= &K 140 40.0 44.0(371 307 3NS+1 ¢3 630 53.0 31.0
211 205 4v O+1 &K -650 44.0 40.0|277 278 24 N+1 ¢J 140 40.0 44.0(378 379 3NS+1 ¢3 630 53.0 31.0
276 277 4v O+1 &K -650 44.0 40.0|279 276 34 S= &K 140 40.0 44.0 (401 477 3NS+1 &5 630 53.0 31.0
379 372 4v V+1 aA -650 44.0 40.0|301 377 24 N+1 ¢J 140 40.0 44.0(404 474 3NS+1 &8 630 53.0 31.0
402 470 49y O+1 &K -650 44.0 40.0|303 375 34 N= *J 140 40.0 44.0(405 473 3NS+1 ¢2 630 53.0 31.0
473 478 4v V+1 4 A -650 44.0 40.0|305 373 24 S+1 %K 140 40.0 44.0(476 402 3NS+1 ¢3 630 53.0 31.0
480 407 4y O+1 &5 -650 44.0 40.0|306 372 24 S+1 &K 140 40.0 44.0(106 174 3NS= v3 600 19.0 65.0
274 279 4v V+2 &8 -680 29.0 55.0|378 379 34 N= *J 140 40.0 44.0(171 176 3NS= LX) 600 19.0 65.0
306 308 4v V+2 &A -680 29.0 55.0|405 473 34 N= *J 140 40.0 44.0(203 273 3NS= v3 600 19.0 65.0
101 102 4v V+3 &8 -710 15.0 69.0|470 408 24 N+1 ¢J 140 40.0 44.0(279 276 3NS= v3 600 19.0 65.0
174 104 4v V+3 &8 -710 15.0 69.0|471 407 24 S+1 &K 140 40.0 44.0(280 209 3NS= aT 600 19.0 65.0
202 272 4v V+3 &8 -710 15.0 69.0 476 402 24 N+1 &K 140 40.0 44.0(304 374 3NS= v3 600 19.0 65.0
204 270 4v V+3 ¢8 -710 15.0 69.0 (478 479 34 S= &K 140 40.0 44.0(309 311 3NS= T 600 19.0 65.0
210 206 4v V+3 &8 -710 15.0 69.0(175 105 3v O-1 &K 50 17.0 67.0|370 308 3NS= v3 600 19.0 65.0
301 371 4v V+3 ¢4 -710 15.0 69.0|371 307 3v O-1 &K 50 17.0 67.0|380 310 3NS= &5 600 19.0 65.0
303 311 4v O+3 &8 -710 15.0 69.0|304 374 44 S-1 &K -50 13.0 71.0|406 472 3NS= &5 600 19.0 65.0
309 305 4v V+3 T -710 15.0 69.0 (370 308 44 N-1 &9 -50 13.0 71.0|470 408 3NS= +Q 600 19.0 65.0
373 378 5v O+2 &3 -710 15.0 69.0|480 410 2v O+1 3 -140 10.0 74.0|471 407 3NS= +Q 600 19.0 65.0
377 374 5v O+2 v7 -710 15.0 69.0|171 176 2v N-3 *J -150 7.0 77.0(478 479 3NN= LY 600 19.0 65.0
409 405 4v V+3 v3 -710 15.0 69.0|211 207 2v N-3 LX) -150 7.0 77.0(480 410 3NS= &9 600 19.0 65.0
477 474 49y O+3 +9 -710 15.0 69.0(309 311 1v V+3 &4 -170 3.0 81.0(403 475 2NS= &8 120 4.0 80.0
302 370 44DN-4 T -800 2.0 82.0(376 302 2y O+2 &A -170 3.0 81.0(305 373 3NS-1 &5 -100 2.0 82.0
105 173 6NV +1 ¢4 -1470 0.0 84.0(404 474 2vyDN-4 ¢ -800 0.0 84.0(306 372 3NS-2 v4 -200 0.0 84.0
403 - 40.5 409 - 38.6 409 - 38.6
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19 484 Basta kontrakt 20 495 Basta kontrakt 21 4 E53 Basta kontrakt
Syd v 1093 54 V =-650 Vast v KDKn1043 34 V =-140 Nord v EK72 3NT O =-400
oV + Kn1085 Alla + K5 NS + Kn975
#6542 & ¢ v & NT #DKn8 & ¢ v & NT #54 & ¢ v & NT
4 EKN92 4 KD1063 N6 3523 4 KD107 & EKn643 N8 58 36 4 KKn64 «D9 N3 3644
v 84 v EKn65 S6 3523 vE8 v 962 S 85836 vD1094 ¢3 S33644
¢EK72 ¢ D96 O 7 108 1110 +Knl103 ¢ D974 058496 ¢+ KD2 ¢+ E10864 09 106 8 9
*K87 *Kn vV 7 108 1110 #K1074 %9 V58496 *Kn6 #EK1098 V 9 106 8 9
475 482 #10872
vKD72 v75 v Kn865
+43 + E862 +3
#ED1093 #E6532 »D732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéng
375 301 64 V-3 ¢J 300 84.0 0.0(170 178 3NV-4 vK 400 840 0.0(110 174 5¢DO-2 vA 300 84.0 0.0
103 104 64 V-1 #6 100 77.0 7.0|204 274 44DO-1 v7 200 810 3.0(202 278 54 O-1 &7 50 75.0 9.0
107 175 64 V-1 #6 100 77.0 7.0|477 478 44aDV-1 #Q 200 81.0 3.0(207 273 4¢ O-1 48 50 75.0 9.0
203 275 64 O-1 #A 100 77.0 7.0|101 106 44 O-1 7 100 73.0 11.0(271 209 3NV-1 v2 50 75.0 9.0
303 373 3v¥O-1 #9 100 77.0 7.0(111 179 44 V-1 vK 100 73.0 11.0(308 374 3NO-1 +¥3 50 75.0 9.0
377 378 64 V-1 46 100 77.0 7.0(206 272 44 V-1 vQ 100 73.0 11.0 (311 371 5¢ V-1 vA 50 75.0 9.0
479 476 64 V-1 &6 100 77.0 7.0|370 306 44 O-1 7 100 73.0 11.0(380 370 4¢ V-1 43 50 75.0 9.0
109 173 24 O+4 #A -230 70.0 14.0(379 376 44 O-1 +A 100 73.0 11.0 (403 479 4¢ V-1 43 50 75.0 9.0
405 471 44 V= v3 -620 68.0 16.0 (404 472 44 O-1 #9 100 73.0 11.0 (472 410 3NV-1 vA 50 75.0 9.0
170 178 3NV +1 &4 -630 65.0 19.0(380 309 3v N-1  #9 -100 66.0 18.0(104 105 3¢ V= vA -110 60.0 24.0
271 207 3NV +1 &2 -630 65.0 19.0(103 104 24 V+1 ¢5 -140 43.0 41.0(106 103 3¢ O= v6 -110 60.0 24.0
101 106 44 V+1 &6 -650 35.0 49.0 (105 102 34 V= vK -140 43.0 41.0(172 177 3¢ V= s A -110 60.0 24.0
105 102 44 V+1  ¢J -650 35.0 49.0(108 174 34 O= v7 -140 43.0 41.0(306 376 24 O+1 vJ -110 60.0 24.0
108 174 44 O+1 ¢4 -650 35.0 49.0(109 173 34 O= v7 -140 43.0 41.0(378 304 3¢ O= 28 -110 60.0 24.0
111 179 44 V+1 9T -650 35.0 49.0 (171 177 34 V= vK -140 43.0 41.0|406 476 3¢ V= vA -110 60.0 24.0
171 177 44 V+1 »T -650 35.0 49.0(172 176 24 O+1 v7 -140 43.0 41.0 (407 475 3¢ V= vA -110 60.0 24.0
172 176 44 V+1 ¢ -650 35.0 49.0(201 277 24 O+1 v7 -140 43.0 41.0(303 379 4¢ O= +3 -130 51.0 33.0
180 110 44 O+1 ¥K -650 35.0 49.0(203 275 24 V+1 vK -140 43.0 41.0(478 404 3¢ V+1 vA -130 51.0 33.0
204 274 54 O = vK -650 35.0 49.0(271 207 24 O+1 w7 -140 43.0 41.0(373 309 2NV +1 YA -150 48.0 36.0
205 273 44 O+1 &2 -650 35.0 49.0 (276 202 3e V= vK -140 43.0 41.0(171 178 2NV +2 ¢2 -180 45.0 39.0
206 272 44 V+1 a4 -650 35.0 49.0(278 279 34 O= v8 -140 43.0 41.0(372 310 2NO+2 vA -180 45.0 39.0
209 211 44 O+1 a7 -650 35.0 49.0(302 374 34 V= vK -140 43.0 41.0(109 175 3y N-2 K -200 42.0 420
270 208 44 V+1 %6 -650 35.0 49.0(303 373 34 V= vK -140 43.0 41.0(301 302 2NO+3 3 -210 40.0 44.0
276 202 44 O+1 #A -650 35.0 49.0(304 372 34 O= v7 -140 43.0 41.0(206 274 3vy N-3 #A -300 38.0 46.0
278 279 44 O+1 ¢4 -650 35.0 49.0(305 371 34 O= v7 -140 43.0 41.0(170 179 3NV = vA -400 29.0 55.0
280 210 44 V+1 ¢ -650 35.0 49.0(308 310 34 V= vK -140 43.0 41.0(180 111 3NV= *7 -400 29.0 55.0
302 374 44 V+1 46 -650 35.0 49.0|311 307 24 O+1 v7 -140 43.0 41.0|205 275 3NO= v5 -400 29.0 55.0
304 372 44 V+1 4] -650 35.0 49.0 (377 378 34 O= v7 -140 43.0 41.0(272 208 3NO= v6 -400 29.0 55.0
305 371 44 V+1 %6 -650 35.0 49.0 (408 410 34 O= *2 -140 43.0 41.0(277 203 3NV = v2 -400 29.0 55.0
308 310 44 V+1 &2 -650 35.0 49.0|470 406 24 V+1 vQ -140 43.0 41.0|280 211 3NO= v2 -400 29.0 55.0
311 307 44 O+1 K -650 35.0 49.0 (479 476 24 O+1 w7 -140 43.0 41.0(405 477 3NV = vA -400 29.0 55.0
370 306 44 V+1 6 -650 35.0 49.0 480 409 24 V+1 vK -140 43.0 41.0(473 409 3NV = v2 -400 29.0 55.0
379 376 44 V+1 8 -650 35.0 49.0(375 301 34 O+1 ¢J -170 17.0 67.0(102 107 3NO+1 v6 -430 14.0 70.0
380 309 44 V+1 v3 -650 35.0 49.0(402 474 24 O+2 w7 -170 17.0 67.0(108 101 3NV +1 YA -430 14.0 70.0
402 474 44 V+1 4 -650 35.0 49.0 (403 473 34 V+1 45 -170 17.0 67.0(173 176 3NV +1 ¢2 -430 14.0 70.0
403 473 44 O+1 &A -650 35.0 49.0 (475 401 24 V+2 vK -170 17.0 67.0(204 276 3NV +1 ¢2 -430 14.0 70.0
404 472 44 O+1 vK -650 35.0 49.0(107 175 4v N-3 &9 -300 10.0 74.0(210 270 3NV +1 YA -430 14.0 70.0
470 406 44 O+1 vQ -650 35.0 49.0(280 210 3v N-3 9 -300 10.0 74.0|279 201 3NV +1 &3 -430 14.0 70.0
477 478 44 O+1 &A -650 35.0 49.0 (405 471 5#S-3 4K -300 10.0 74.0(401 402 3NV +1 #2 -430 14.0 70.0
201 277 54 V+1 8 -680 3.0 81.0(180 110 5¢vDN-2 &9 -500 6.0 78.0|307 375 3NV +2 5 -460 6.0 78.0
408 410 44 O+2 3 -680 3.0 81.0(205 273 44 O+1 &2 -650 4.0 80.0408 474 3NO+3 43 -490 4.0 80.0
475 401 44 V+2 45 -680 3.0 81.0(209 211 34DO= ¥7 -730 1.0 83.0(480 470 2¢vyDN-2 #K -500 2.0 82.0
480 409 564 O+1 v7 -680 3.0 81.0(270 208 34DO= v7 -730 1.0 83.0(305 377 4¢DV= ©vA -510 0.0 84.0
- 407 40.4 - 407 40.4 - 471 39.6
22 4 D963 Basta kontrakt 23 4 K8 Basta kontrakt 24 462 Basta kontrakt
Ost v D98 44 S =420 Syd v4 64 N D -2-500 Vast vES53 44 VD -1 100
ov + Kn965 Alla 410987642 Ingen + K76
#E5 % ¢ v & NT #3873 & ¢ v & NT #EKn1054 & ¢ v & NT
472 » K854 N 7 118 109 +10 & 54 N8 51101 «Knl1054 «ED98 N758409
vE742 v Kn103 S 7 118 109 vKn8763 ¥EKD10952 S 8 5 1 111 vD v Kn876 S758 438
+ 104 +82 06 2532 + EK3 ¢ DKn5 038 122 5 ¢ D52 ¢ EKn109 06 8594
#DKn1082 #K643 V62532 #ED64 &5 vV 38 122 5 #K9876 &2 V685094
# EKn10 « EDKn97632 4 K73
v K65 v- v K10942
¢ EKD73 ¢- ¢ 843
*97 #KKn1092 +D3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
104 105 3NN+2 &5 460 82.0 2.0(477 403 44DS+1 ¢A 990 84.0 0.0(206 276 2v S= a) 110 84.0 0.0
373 309 3NS+2 v2 460 82.0 2.0(110 101 54DS= +A 850 71.0 13.0|111 175 2NO-2 +2 100 79.0 5.0
401 402 3NS+2 #Q 460 82.0 20173 177 54DS= +K 850 71.0 13.0 307 373 44 V-2 vA 100 79.0 5.0
173 176 3NS+1 #Q 430 76.0 80180 170 54aDS= +¢A 850 71.0 13.0 472 408 44 V-2 v3 100 79.0 5.0
180 111 3NS+1 #Q 430 76.0 80208 274 54aDS= +¢A 850 71.0 13.0 | 477 403 44 O-2 #Q 100 79.0 5.0
372 310 3NS+1 #Q 430 76.0 8.0(211 271 54DS= +¢A 850 71.0 13.0 (377 303 INN= +9 90 74.0 10.0
206 274 44 S= T 420 69.0 15.0 272 210 54DS= +¢K 850 71.0 13.0(305 375 34 O-1 £Q 50 70.0 14.0
303 379 44 N= ¢+8 420 69.0 15.0|302 378 54DS= +¢A 850 71.0 13.0|310 370 34 V-1 ¢3 50 70.0 14.0
307 375 44 N= +8 420 69.0 15.0 305 375 54DS= ¢A 850 71.0 13.0 (405 475 24 V-1  vA 50 70.0 14.0
472 410 44 N= vJ 420 69.0 15.0 377 303 54DS= +¢A 850 71.0 13.0|172 178 3v S-1 45 -50 59.0 25.0
106 103 3NS= 8 400 50.0 34.0(380 311 54DS= +A 850 71.0 13.0 (173 177 2v S-1 %2 -50 59.0 25.0
108 101 3NS= «Q 400 50.0 34.0 (402 478 54DS= +A 850 71.0 13.0(180 170 3v S-1 4] -50 59.0 25.0
110 174 3NS= «Q 400 50.0 34.0(404 476 54DS= +A 850 71.0 13.0|201 202 3v S-1 4] -50 59.0 25.0
170 179 3NS= T 400 50.0 34.0(203 279 44 S+1 #A 650 54.0 30.0(203 279 3v S-1 44 -50 59.0 25.0
204 276 3NS= «Q 400 50.0 34.0(371 309 44 S+1 ¥v3 650 54.0 30.0(302 378 3v S-1 &4 -50 59.0 25.0
205 275 3NS= «Q 400 50.0 34.0(372 308 44 S+1 ¢K 650 54.0 30.0(380 311 4v S-1 & -50 59.0 25.0
207 273 3NS= *«Q 400 50.0 34.0(471 409 44 S+1 A 650 54.0 30.0(479 401 3&#N-1 &A -50 59.0 25.0
272 208 3NS= «Q 400 50.0 34.0 (479 401 54 S= ¢+A 650 54.0 30.0(272 210 3v S-2 ¢2 -100 49.0 35.0
277 203 3NS= «Q 400 50.0 34.0(206 276 44 S= ¢A 620 48.0 36.0 (379 301 4v S-2  #3 -100 49.0 35.0
280 211 3NN= «Q 400 50.0 34.0[103 108 54DS-1 +A -200 38.0 46.0(208 274 24 V= vA -110 44.0 40.0
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306 376 3NS= «Q 400 50.0 34.0|111 175 64DS-1 +K -200 38.0 46.0|273 209 1a V+1 46 -110 44.0 40.0
308 374 3NS= «Q 400 50.0 34.0|205 277 6aDS-1 ¢K -200 38.0 46.0 471 409 1e V+1 46 -110 44.0 40.0
378 304 3NS= »2 400 50.0 34.0|278 204 54DS-1 3 -200 38.0 46.0|105 106 24 V+1 ¢33 -140 35.0 49.0
407 475 3NS= «Q 400 50.0 34.0|307 373 64 S-2 *A -200 38.0 46.0 (107 104 34 V= vA -140 35.0 49.0
478 404 3N S = «Q 400 50.0 34.0|310 370 64aDS-1 +A -200 38.0 46.0 (205 277 24 V+1 ©vA -140 35.0 49.0
102 107 2NS+2 #Q 180 33.0 51.0|379 301 64DS-1 +A -200 38.0 46.0(207 275 24 O+1 vT -140 35.0 49.0
301 302 2NS+2 #Q 180 33.0 51.0|405 475 64DS-1 +A -200 38.0 46.0|211 271 34 O= *Q -140 35.0 49.0
279 201 24 N+2 v 170 28.0 56.0 407 473 54DS-1 +A -200 38.0 46.0|402 478 34 V= v3 -140 35.0 49.0
380 370 3¢ S+3 vA 170 28.0 56.0|207 275 64DN-2 &5 -500 27.0 57.0 407 473 3v S-3 a4 -150 28.0 56.0
403 479 4¢ S+2 #Q 170 28.0 56.0|306 374 64DS-2 +A -500 27.0 57.0(103 108 14 V+3 #A -170 15.0 69.0
172 177 4¢ S+1 &7 150 23.0 61.0|107 104 5v O+1 #J -680 17.0 67.0 (109 102 24 V+2 #A -170 15.0 69.0

271 209 2NS+1 #Q 150 23.0 61.0|109 102 5v V+1 &K -680 17.0 67.0 (110 101 34 O+1 #Q -170 15.0 69.0

405 477 3¢ S+1 #Q 130 20.0 64.0|171 179 5v V+1 &K -680 17.0 67.0(171 179 34 O+1 #Q -170 15.0 69.0
202 278 2N S = «0Q 120 18.0 66.0 (174 176 5v O+1 A -680 17.0 67.0|174 176 24 V+2 vA -170 15.0 69.0
109 175 3NS-1 LN -50 11.0 73.0|201 202 5v O+1 &A -680 17.0 67.0(278 204 34 V+1 ©vA -170 15.0 69.0
305 377 3NS-1 *Q -50 11.0 73.0|273 209 5v O+1 &A -680 17.0 67.0(280 270 34 V+1 ¢33 -170 15.0 69.0
311 371 3NS-1 *Q -50 11.0 73.0|304 376 5v O+1 &A -680 17.0 67.0(371 309 24 O+2 #Q -170 15.0 69.0
406 476 3NS-1 *Q -50 11.0 73.0|406 474 5v O+1 &A -680 17.0 67.0(372 308 24 O+2 ©vA -170 15.0 69.0
473 409 3NS-1 *Q -50 11.0 73.0|105 106 6v O = 4A -1430 4.0 80.0|404 476 34 V+1 3 -170 15.0 69.0
480 470 24 N-1  +8 -50 11.0 73.0|172 178 6v O = aA -1430 4.0 80.0 (406 474 34 V+1 42 -170 15.0 69.0
171 178 3NS-2 *Q -100 3.0 81.0|280 270 6v O= oA -1430 4.0 80.0(410 470 34 V+1 ©vA -170 15.0 69.0
210 270 3NS-2 *Q -100 3.0 81.0|410 470 6v O= 4A -1430 4.0 80.0(306 374 4vDS-2 & -300 2.0 82.0
408 474 3N S-3 2Q -150 0.0 84.0|472 408 6v O = aA -1430 4.0 80.0|304 376 24DV +2 vA -670 0.0 84.0
- 471 39.6 | 480 - 26.3 480 - 26.3
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